F15HA

TN 6 FE (0245 %) LBEEFHE (KT, FFEPE. FEFEKRE. KB, MNE. ZAES. LVAITFA. ZIE)

ML B [RIRTE [R1E ®ig RRED BB —MRIEF
Eif(a)  EEEke) | (e (fEEGe) | FAl(@) [ £EES e | BEE ke | fEAATREEHE(ha)
KHE |&55397 10 100 40 1,360 3,930 172,920 140 5,764
ELOW & - - - - 400 17,600 80 587
BEDIEL 10 100 320 10,880 37,020 1,628,880 670 54,296
AKYAC - - 60 2,040 4,920 216,480 160 7,216
BIEADE - - - - - - 180 -

B HUYH - - 130 4,420 15,320 674,080 370 22,469

PN 10F - - - 30 1,020 2,340 102,960 180 3,432
UMY 10 100 - - - - 20 -
HPVH - - - - 390 17,160 180 572
YA - - 20 680 2,420 106,480 240 3,549
ZoE 10 100 - - - - 200 -
1SR - - - - - - 170 -
2E 10 100 - - - - 320 -
E-L9¢ - - - - 310 13,640 320 455
ot - - 30 1,020 3,520 154,880 240 5,163
AHBED - - 80 2,720 10,330 454,520 60 15,151
ZhELY 10 100 20 680 400 17,600 160 587

F<B £33 10 100 30 1,020 1,880 82,720 85 2,757
BEDFLH - - 30 1,020 2,520 110,880 134 3,696
EpELS - - 20 680 1,180 51,920 125 1,731
FAKED - - - - - - 111 -
&t 70 700 810 27,540 86,880 3,822,720 4215 127,424

MESNE

X8/h4Y - - 50 1,950 2,849 111,111 150 1,235
EFEHS 50 1,050 4,320 168,480 161,651 6,789,342 10,620 84,867
BHEMD 90 1,890 990 38,610 38,420 1,498,380 1,749 16,649
FtR5E - - 85 3,315 2,020 78,780 711 875
2%EH - - - - - - 318 0
&t 140 2,940 5,445 212,355 204,940 8,477,613 13,548 103,625
EFEhE|NILIEA 100 1,200 150 3,600 4,200 113,400 276 945




TN 6 FE (0245 %) LBEEFHE (KT, FFEPE. FEFEKRE. KB, ME. ZAES. LVAITFA. ZIE)

e | RES RS RiE 1218 REED | (BE—KE
Eif(a)  HEEke) | F@f(a) (HEEGe) | FAli(@ [ £EES e | BEE ke | fEAATREEE(ha)

LA 285 3,420 2,220 53,280 51,356 | 1,386,612 6,624 11,555
IF5E5Y - - 380 9,120 9,150 247,050 1,509 2,059

&t 385 4,620 2,750 66,000 64,706 i 1,747,062 8,409 14,559
BFExz|YES55 - - 30 750 290 7,975 240 53
LE2% - - 340 8,500 5,710 157,025 1,152 1,047

it - - 370 9,250 6,000 165,000 1,392 1,100

= BHDD% - - 20 300 330 5,940 74 74
YILL R A - - 10 150 120 2,160 24 27
BRI - - 5 90 50 900 18 8
Nnyehy - - - - 820 14,760 96 246
REUYH 5 60 20 300 120 2,160 18 36
FILRA - - 140 2,100 3,440 61,920 203 1,032
¥kl - - 1,140 17,100 31,525 567,450 1,071 6,305
aF7HKRTLR 40 480 1,200 18,000 36,785 662,130 1,521 7,357
LEHDE 20 240 280 4,200 13,583 244,494 243 4,075
BEAH - - 20 300 670 12,060 36 201
XD 10 120 80 1,200 2,580 46,440 49 774
LbhLKs 10 120 170 2,550 4,040 72,720 246 909
AXTILR - - 80 1,200 3,180 57,240 112 1,431
XL XHh 10 120 260 3,900 11,727 211,077 196 5277
LEFEED - - 220 3,300 10,895 196,110 324 2,179

&t 95 1,140 3,645 54,690 119,865 i 2,157,561 4,231 29,931

X T RREO RSl 5. THOEERRRE TR VRE S~ EO R EEZ T -




TN 6 FE (0245 %) LBEEFHE (KT, FFEPE. FEFEKRE. KB, ME. ZAES. LVAITFA. ZIE)

ML nEL [RIRTE [R1E ®Rig RRED BB —MRIEF
Eif(a)  HEEke) | F@f(a) (HEEGe) | FAli(@ [ £EES e | BEE ke | fEAATREEE(ha)

MNE [ZUEVIDX - - 300 4,500 5,360 80,400 529 2,010
I!E167 - - 390 5,850 7,395 110,925 522 2,773
E-DHELED - - 70 1,050 1,040 15,600 70 390
LoEY - - 80 1,200 350 5,250 235 131
EBFEA 80 960 750 11,250 15,040 225,600 335 5,640
FLAF 5 60 10 150 - - - -
LIEPUVH - - 40 600 80 1,200 52 30
EV0FEY - - 20 300 50 750 59 19
E1FE5 - - 20 300 150 2,250 100 45
FhFEAFIY - - - - - - 205 -
ELHKENE - - 200 3,000 1,795 26,925 374 539
IFENKAINE - - 10 150 180 2,700 13 54

it 85 1,020 1,890 28,350 31,440 471,600 2,494 11,631

AZAES [ILBRIE 5 60 30 360 480 7,200 36 120
A% - - 10 120 100 1,500 89 25

it 5 60 40 480 580 8,700 125 145

X T RREO RSl 5. TR ERRREERVRE ST~ EO R EEZ T .




D6 FFE Q0245 %) LEERFHE (K. FEFSDE, FFTAE. KE. MR, ZALES . BAIFA, 2@
ML BEL RIRE [RiE RiE REED | EBE)—MRE
Eifa) (HEEe) | Bl (HEEe) | BEH(a) [ HEE () | BEE e | EAAIREEM(ha)
WAIFA | KIESE 80 800 1,670 20,040 9,095 136,425 2,125 1,516
B % ol - - - - - - 684 -
i 270 2,700 1,000 12,000 3,091 46,365 1,149 386
LEI=k s - - 150 1,800 600 9,000 490 90
i A - - 150 1,800 1,300 19,500 2,320 163
nEEE - - - - - - 159 -
EFC 15 150 250 3,000 2,991 44,865 145 897
8£TFE> - - - - - - - -
#|TIES 5 50 - - 200 3,000 - 50
'35 - - 80 960 180 2,700 368 25
Et-0vyy - - - - - - 317 -
N 190 1,900 860 10,320 7,181 107,715 310 1,197
RER AR - - 20 360 160 3,360 40 67
BRE - - 30 540 160 3,360 79 56
AB7TE - - 10 180 150 3,150 107 29
H 560 5,600 4,220 51,000 25,108 379,440 8,293 4,475
zlE  [FETEYAN 100 900 720 6,480 1,968 17,712 2,141 295
X2/3ay - - 20 180 92 828 - 14
L3/5%Y - - 250 2,250 264 2,376 - 40
FEIVYL - - 520 4,680 2,286 20,574 - 343
&t 100 900 1,510 13,590 4,610 41,490 2,141 692
X RREOREEIE. n6FERFEERVIREENCHN EDIREEERT -




2 REFR

(e k%)
E55397 IFLOW&H
REE [BRREFE(100ke/10a) [5#E(340kg/10a) 218 (440kg/10a) RES |[RFEFE(100ke/10a) JR3E(340kg/10a) $£78(440kg/10a)
Efi(a) EEEke) HEiEa) HES (ke) HEiE(a) EES (ke) Ei&(a) EEE (ke HEf&(a) EEE (ke Ef&(a) EFEE (ke
225 10 100 40 1,360 3,930 172,920 225 - - - - - -
B - - - - - - BE - - - - - -
ES - - - - - - ES - - - - 400 17,600
i3] - - - - - - 3l - - - - - -
b 10 100 40 1,360 3,930 172,920 i - - - - 400 17,600
HAEDIFEL SKYAC
REF [BRRERE(100ke/10a) [5#E(340kg/10a) 218 (440kg/10a) RES |[RFEFE(100ke/10a) JR3E(340kg/10a) $£78(440kg/10a)
Ei(a) EEEke) HEiEa) HES (ke) HEiE(a) EES (ke) Ei&(a) EEE (ke HEf&(a) EEE (ke HEf&(a) EFEE (ke
225 10 100 250 8,500 24,698 | 1,086,712 et - - - - - -
E=25 - - 30 1,020 3,180 139,920 B - - - - - -
EE - - - - 2,560 112,640 ES - - 60 2,040 4,920 216,480
LIl - - 40 1,360 6,582 289,608 1] - - - - - -
it 10 100 320 10,880 37,020 | 1,628,880 it - - 60 2,040 4,920 216,480
BIFADE BHUY A
REF [BRRERE(100keg/10a) [5#E(340kg/10a) 218 (440kg/10a) RES |[RFEFE(100keg/10a) JR3E(340kg/10a) $£78(440kg/10a)
Ei(a) EEEke) HEiE(a) HES (ke HEiEa) EES (ke) Ef&(a) EEE (ke HEf&(a) EEE (ke Ef&(a) EFEE (ke
5 - - - - - - 25 - - 50 1,700 9,260 407,440
B - - - - - - B - - - - - -
ES - - - - - - ES - - - - - -
i3l - - - - - - 3l - - 80 2,720 6,060 266,640
it - - - - - - &t - - 130 4,420 15,320 674,080
XD E BwEUMY
REF [BRREFE(100keg/10a) [5#E(340kg/10a) 218 (440kg/10a) RES |[RFEFE(100ke/10a) [R3E(340kg/10a) $£78(440kg/10a)
Efi(a) EEEke) HEiEa) HES (ke HEiE(a) EES (ke) Ei&(a) EEE (ke HEf&(a) EEE (ke Ef&(a) EFEE (ke
5 - - 30 1,020 2,340 102,960 25 10 100 - - - -
B - - - - - - B - - - - - -
ES - - - - - - ES - - - - - -
i3l - - - - - - 3l - - - - - -
it - - 30 1,020 2,340 102,960 &t 10 100 - - - -
HPVH YA
REF [BRRERE(100keg/10a) [5#E(340kg/10a) 218 (440kg/10a) RES |[RFEFE(100ke/10a) JR3E(340kg/10a) $£78(440kg/10a)
Efi(a) EEEke) HEiEa) HES (ke HEiE(a) EES (ke) Ei&(a) EEE (ke HEf&(a) EEE (ke HEf&(a) EFEE (ke
5 - - - - - - 25 - - 20 680 2,420 106,480
B - - - - - - B - - - - - -
ES - - - - - - ES - - - - - -
i3l - - - - 390 17,160 3l - - - - - -
it - - - - 390 17,160 &t - - 20 680 2,420 106,480




[lRES [IRUEB(100ke/102) ﬁ%i(%afoyfj 02) 548 (440kg/10a) [lRER® [REE(100ke/102) Jﬁ%i(azji/ma) 578 (440kg/10a)

i) | AESke) | @il @ 4ESke | i@ | £ESEke Eife) | £ESke) | @Eihe @ 4ESke | EHG@ | £ES(e)
=50 10 100 - - - - ZH - - - - - -
% - - - - - - L=k - - - - - -
ES - - - - - -| & - - - - - -
L)1 - - - - - o S]] - - - - - -
H 10 100 - - - - B - - - - - -
- 22 - LY
RER |FEREE(100ke/10a) [F#8(340ke/10a) 248 (440ke/10a) RES |[RFEE(100ke/10a) [F#8(340kg/10a) 218(440kg/10a)

i) | AESke) | Bl  4ESke | i@ | £EEke Eif@) | £ESke) | @Eie) @ 4ESke | EHG | £ES(e)
5 10 100 - - - - 5 - - - - 310 13,640
% - - - - - - L=k - - - - - -
ES - - - - - - ES - - - - - -
L - - - - - - L - - - - - -
H 10 100 - - - - B - - - - 310 13,640
- Z50tm - AHED
RER |FERE(100ke/10a) [F#8(340ke/10a) £218(440ke/10a) RES |[RREE(100ke/10a) [F#E(340kg/10a) 218(440kg/10a)

i) | AESke | @il @ 4ESke | HEiHEGE) | £EEke Eife) | £ESke) | @Eie @ 4ESke | EHG | £ES(e)
5 - - - - - - 5 - - 80 2,720 10,330 454,520
ar - - 30 1,020 3,520 154,880 ki - - - - - -
ES - - - - - - ES - - - - - -
L - - - - - - L - - - - - -
& - - 30 1,020 3,520 154,880 B - - 80 2,720 10,330 454,520
- ZoEHY
RER |FREE(100ke/10a) [F#8(340ke/10a) £248(440ke/10a)

i) | AESke) | Bl @ 4ESke | HEiHEGE) | £ESEke
5 10 100 20 680 400 17,600
% - - - - - -

ES - - - - - -

L - - - - - -

H 10 100 20 680 400 17,600

- F<BEIBL - ADFLL

RER |REREE(100ke/10a) [F#8(340ke/10a) £248(440ke/10a) RES |[RREE(100ke/10a) [F#8(340kg/10a) 218(440kg/10a)

i) | AESke) | Bl @ 4ESke | i@ | £EEke Eife) | £ESke) | @Eie @ 4ESke | EHG | £ES(e)
=50 10 100 - - 1,212 53,328 25 - - - - 1,010 44,440
% - - - - - - L=k - - - - - -
ES - - - - - - |&s - - - - - -
I - - 30 1,020 668 29,392 Il - - 30 1,020 1,510 66,440
H 10 100 30 1,020 1,880 82,720 B - - 30 1,020 2,520 110,880




EpELL E5<b5
RES |EERHE(100ke/10a) [R#8(340kg/10a) $£18(440kg/10a) RER |BEE(100kg/10a) R#E(340kg/10a) $£18(440kg/10a)
i) | £EEke) | @@ | fEEke | @G | £EEke mife) | £EEke) | @@ | EE2ke | @G | £E=2ke
3| - - - - - - 25 - - - - - -
Lot s - - - - - - ar - - - - - -
ES - - - - - - ES - - - - - -
i3]l - - 20 680 1,180 51,920 il - - - - - -
5 - - 20 680 1,180 51,920 B - - - - - -
KHE &Et
REE R[5 #E(100ke/10a) R #2(340ke/10a) F£72(440ke/10a)
i mite) | £EREke) | Eie | EE2Eke | @G | £E=Eke
=50 70 700 490 16,660 55,910 | 2,460,040
aE - - 60 2,040 6,700 294,800
ES - - 60 2,040 7,880 346,720
il - - 200 6,800 16,390 721,160
i 70 700 810 27,540 86,880 | 3,822,720




AME6EE (2024FE) LB EREFIHE
2 REBZE
(HEHE - MESNME)
X2/HAY EFEH

spmpm | RERTE 210ke/10a_ [FR7E 390kg/10a %1% 390kg/10a spmpm | BERIE 210ke/10a_ [FRFE 390kg/10a %18 420kg/10a

EiE(a) 4EEke)| EiE(a) 4ERKe)| EHE(a) HEE (ke) | i (a) 4EEke)| EiE(a) 4ERe)| EHE(a) HEE (ke) |
250 - - 50 1,950 1,509 58,851 250 50 1,050 120 4,680 4,535 190,470
¥ - - - - - - ¥ - - - - 410 17,220
BE - - - - - - BE - - 60 2,340 2,800 117,600
GEE - - - - - - GEE - - - - - -
Li=A| - - - - - - Li=A| - - - - 300 12,600
£ - - - - 110 4,290 £ - - 380 14,820 [ 17,000 714,000
k-9 - - - - 230 8,970 k=99 - - 1,910 | 74,490 | 50,306 | 2,112,852
i - - - - 1,000 39,000 TR - - 1,850 72,150 | 86,300 3,624,600
i - - 50 1,950 2,849 111,111 H 50 1,050 4320 168480 | 161651 6,789,342

PHEMS RIS

pmme BB 210ke/10a_ |78 390ke/10a %18 390kg/10a pmme BRI 210ke/10a_ |78 390ke/10a %18 390kg/10a

EiE(a) 4EEe)| EHE(a) HEEe)| EHE(a)  FES (ko) | EiE(a) %EEe)| EHE(a) HEEe)| EHE(a)  FES (ko) |
2240 90 1,890 200 7,800 5,530 215,670 2250 - - 35 1,365 220 8,580
af - - 140 5,460 5,200 202,800 af - - 50 1,950 1,800 70,200
% - - - - - - % - - - - - -
8 - - 80 3,120 2,080 81,120 B ¥R - - - - - -
i1l - - - - - - LAl - - - - - -
i3]l - - 100 3,900 6,000 234,000 i3]l - - - - - -
1t-vy - - 200 7,800 5610 218,790 1h-vy - - - - - -
+i% - - 270 10530 | 14,000 546,000 +i% - - - - - -
g 90 1,890 990 | 38610 | 38420 1,498,380 g - - 85 3,315 2,020 78,780

2%%5H MESINE HF

pmpu | BERE 210ke/10a_ [[R7E 390ke/10a 2% 390kg/10a R RRiE [RiE %12

EiE(a) 4EEke)| EiE(a) 4ERe)| EHE(a) HEE (ke) | i (a) 4EE(e)| EiE(a) £EE (e)| EiE(a) | EES (ke)
5 - - - - - - 5 140 2,940 405 15,795 11,794 473,571
arx - - - - - - an - - 190 7,410 7,410 290,220
BE - - - - - - BE - - 60 2,340 2,800 117,600
GEE - - - - - - GEE - - 80 3,120 2,080 81,120
L= - - - - - - L= - - - - 300 12,600
i3]l - - - - - - £l - - 480 18720 23,110 952,290
k-9 - - - - - - X ) - - 2,110 | 82290 | 56,146 2,340,612
+ B - - - - - - T B - - 2,120 | 82,680 | 101,300 | 4,209,600
it - - - - - - it 140 2,940 5445 | 212,355 | 204,940 8,477,613




(& BFEE/IER)

A= ] LT
JR[EFE 120kg/10a [R%& 240kg/10a $£4& 270kg/10a JR[FFE 120kg/10a [R%& 240kg/10a $£4& 270kg/10a
RER | Efi) [ EEE e | BEHi(a) (EESE(e) | HEHi(a) | EEE (e | RER | EfiG) [ EEE e | BEHi(a) (EESE(e) | HEHi(a) | EEE (e |
50 100 1,200 30 720 1,800 48,600 250 285 3,420 - - - -
ot - - 120 2,880 2,400 64,800 ot - - 190 4,560 5,950 160,650
#®E - - - - - - #®E - - 100 2,400 1,900 51,300
RE#R - - - - - - RE#R - - - - - -
i} - - - - - - L] - - - - 500 13,500
I - - - - - - I - - 420 10,080 12,000 324,000
1hE—vY - - - - - - -9 - - 1,510 36,240 31,006 837,162
T8 - - - - - - T8 - - - - - -
i 100 1,200 150 3,600 4,200 113,400 & 285 3,420 2,220 53,280 51,356 | 1,386,612
F2E5Y FFEhE AF
[RIRTE 120kg/10a [ 7% 240kg/10a 238 270kg/10a RRRE Rig 2
RERD | EHi) (EEEke) | EHG) [ HESE(ke) | EHi() | EER (ke | RER | Efi() (EEE(e) | EH(a) [ HEESE(e) | EHi() | EES (ke |
50 - - 130 3,120 3,550 95,850 250 385 4,620 160 3,840 5,350 144,450
AR - - - - - - ¥ - - 310 7,440 8,350 225,450
% - - - - - - #®E - - 100 2,400 1,900 51,300
RE#R - - - - - - RE#R - - - - - -
i} - - - - - - L] - - - - 500 13,500
I - - 250 6,000 5,600 151,200 I - - 670 16,080 17,600 475,200
1t-v9 - - - - - - 1E=y9 - - 1,510 36,240 31,006 837,162
T8 - - - - - - T8 - - - - - -
it - - 380 9,120 9,150 247,050 £ 385 4,620 2,750 66,000 64,706 | 1,747,062
(e BFEEXRE)
Y&ES55 LE2S
JR[EFE 120kg/10a [R%& 250kg/10a $£4& 275kg/10a JR[FFE 120kg/10a [R%& 250kg/10a $£4& 275kg/10a
RER | Efi@)  EEE(e) | BEHi(a) HESE(e) | HEHi(a) | EEE (e | RER | Efi)  EEEe | BEHi(a) HESE(e) | HEHi(a) | EEE (e |
50 - - - - - - 50 - - - - - -
AR - - - - - - AR - - - - - -
#iE - - - - - - #iE - - - - - -
ER - - - - - - ER - - - - - -
i - - 10 250 40 1,100 i - - - - - -
I - - - - - - I - - 120 3,000 1,900 52,250
1H—vY - - 20 500 250 6,875 -9 - - 220 5,500 3,810 104,775
T8 - - - - - - T8 - - - - - -
i - - 30 750 290 7,975 & - - 340 8,500 5,710 157,025
FFEAE AF
RIRE RiE BRI
RER | Efi() (EEE(e) | EH(a) (HEESE(e) | EHi() | EES (ke |
250 - - - - - -
AR - - - - - -
#iE - - - - - -
RE#R - - - - - -
it} - - 10 250 40 1,100
I - - 120 3,000 1,900 52,250
1h-v9 - - 240 6,000 4,060 111,650
T8 - - - - - -
i - - 370 9,250 6,000 165,000




(8 K=)

BPHDD% YWILLRA
[RRTE 120kg/10a [R7E 150ke/10a $R7E 180ke/10a [RRTE 120kg/10a A% 150ke/10a $R7E 180kg/10a
RER | Efi(a)  £ESe) | BEHG) [ EES(e) | HEHi(a) | EER (ke) REB | EHi(a) (£ER e | B [ EES(e) | HEHi(a) | EER (ke)
250 - - - - - - 250 - - 10 150 120 2,160
A - - - - - - A - - - - - -
#“E - - - - - - #“E - - - - - -
E - - - - - - E - - - - - -
ES - - - - - - B - - - - - -
il - - 20 300 330 5,940 il - - - - - -
il - - - - - - il - - - - - -
#h=vy - - - - - - #h=vy - - - - - -
+i - - - - - - +i - - - - - -
i - - 20 300 330 5,940 b - - 10 150 120 2,160
BII95 NyeHY
[RRTE 120kg/10a [R7E 180ke/10a $R3E 180kg/10a [RRTE 120kg/10a A% 150ke/10a $R7E 180ke/10a
RER | EHi(a)  LER e | BEHG) (EES(e) | HEAHi(a) | EER (ke) RER | Efi(a)  £ER e | BEHG) [ EES(e) | HEHi(a) | EER (ke)
51 - - - - - - 51 - - - - - -
A - - - - - - A - - - - - -
#®E - - - - - - #®E - - - - - -
iR - - - - - - iR - - - - - -
=] - - 5 90 10 180 =] - - - - - -
Li1l] - - - - - - Li1l] - - - - - -
Il - - - - - - Il - - - - - -
A—=v9 - - - - - - A—=v9 - - - - - -
+ B - - - - 40 720 +B - - - - 820 14,760
i - - 5 90 50 900 b - - - - 820 14,760
EYLYA FILRA
[RRTE 120kg/10a [R7E 150ke/10a $R7E 180ke/10a [RRTE 120kg/10a A% 150ke/10a $R7E 180kg/10a
REB | EHi(a)  £ER(e) | FEHG) (EES(e) | HEHi(a) | EER (ke) REB | EHi(a)  £ESe) | FEHG) (EES(e) | HEHi(a) | EER (ke)
25 5 60 - - - - 250 - - 80 1,200 2,670 48,060
A - - 20 300 120 2,160 AR - - 30 450 340 6,120
®E - - - - - - ®E - - 10 150 150 2,700
E - - - - - - E - - - - - -
ES - - - - - - ES - - - - - -
ot - - - - - - il - - 20 300 280 5,040
il - - - - - - il - - - - - -
#h=vy - - - - - - #h=vy - - - - - -
+i - - - - - - +i - - - - - -
i 5 60 20 300 120 2,160 b - - 140 2,100 3,440 61,920
¥Rl a1XHKTLR
[RRTE 120kg/10a [R7E 150ke/10a $R3E 180kg/10a [RRTE 120kg/10a A% 150ke/10a 27 180ke/10a
REB | EHi(a) £ESke) | B (EES(e) | HEHi(a) | EER (ke) RER | Efi(a) £ERke) | BEHG) (EES(e) | HEHi(a) | EER (ke)
250 - - 570 8,550 12,375 222,750 250 40 480 - - 800 14,400
A - - 50 750 650 11,700 A - - - - - -
®RE - - 40 600 900 16,200 ®E - - 50 750 1,500 27,000
E - - - - - - E - - - - - -
ES - - - - - - ES - - - - - -
Li1l] - - - - - - Li1l] - - - - - -
Il - - 400 6,000 15,300 275,400 il - - 120 1,800 4,700 84,600
1E=y9 - - 50 750 2,000 36,000 1E=y9 - - - - - -
+ B - - 30 450 300 5,400 +B - - 1,030 15,450 29,785 536,130
i - - 1,140 17.100 31,525 567,450 b 40 480 1,200 18,000 36785 662,130

X+ 7R LR 980alZIX R ARIE0EEH D,




LeHIE EEPN
[RRTE 120kg/10a [R#E 150ke/10a 278 180ke/10a [RRTE 120kg/10a [R#E 150ke/10a $R7E 180kg/10a
RER | Efi(a)  £ESe) | BEHG) [ EES(e) | HEHi(a) | EER (ke) REB | EHi(a) (£ER e | B [ EES(e) | HEHi(a) | EER (ke)
25D 20 240 30 450 1,300 23,400 250 - - - - - -
ar - - 20 300 200 3,600 A% - - - - - -
#iE - - - - - - #iE - - - - - -
iR - - - - - - iR - - - - - -
ES - - - - - - ES - - - - - -
Li{1) - - - - - - Li{1) - - - - - -
Il - - - - - - Il - - - - - -
1E=y9 - - 110 1,650 7,563 136,134 1E=y9 - - - - - -
+ B - - 120 1,800 4,520 81,360 +B - - 20 300 670 12,060
& 20 240 280 4,200 13,583 244,494 b - - 20 300 670 12,060
KD WhLKD
[RRTE 120kg/10a [R#E 150ke/10a 278 180ke/10a [RRTE 120kg/10a [R#E 150ke/10a $R7E 180ke/10a
RER | EHi(a)  LER e | BEHG) (EES(e) | HEAHi(a) | EER (ke) RER | Efi(a)  £ER e | BEHG) [ EES(e) | HEHi(a) | EER (ke)
=5 10 120 - - - - k3| 10 120 - - - -
AR - - - - - - AR - - - - - -
#iE - - - - - - #iE - - - - - -
RE#R - - - - - - RE#R - - - - - -
ES - - - - - - ES - - - - - -
it} - - - - - - il - - 30 450 950 17,100
I - - - - - - I - - 60 900 1,700 30,600
A-=v9 - - - - - - A-=v9 - - - - - -
+ B - - 80 1,200 2,580 46,440 +h - - 80 1,200 1,390 25,020
E 10 120 80 1,200 2,580 46,440 & 10 120 170 2,550 4,040 72,720
RZXTILR 1%L Xh
[RIRTE 120kg/10a & 150kg/10a %38 180kg/10a [RIRFE 120kg/10a & 150kg/10a #2712 180kg/10a
REE | @)  AEEke | ER) LEEGe) | EH) 4EEke)| |EBB| BHG (LEE e | BB [ LEE e | EH) | EEE (e
250 - - 60 900 2,380 42,840 250 10 120 100 1,500 3227 58,077
A - - - - - - ar - - 80 1,200 2,300 41,400
#iE - - - - - - #iE - - - - - -
BB #% - - 20 300 800 14,400 BB #% - - - - - -
ES - - - - - - ES - - - - - -
Li{1) - - - - - - Li{1) - - - - - -
il - - - - - - il - - - - - -
A=y - - - - - - A=Y - - - - - -
TR - - - - - - T - - 80 1,200 6,200 111,600
& - - 80 1,200 3,180 57,240 s 10 120 260 3,900 11,727 211,077
LEEED XE &t
[RRTE 120kg/10a [R#E 150ke/10a $R3E 180kg/10a REE [RIRTE RTE g
RER | Effi(a) FER(e) | BEHi(a) (EES(e) | HEHi(a) | £ES (ke) Ei(a) (EES(ke)| HEHi(a) (LES(ke)| FEH(a)  EEE (ke)
25 - - 120 1,800 4,200 75,600 25 95 1,140 970 14,550 27,072 487,287
A - - - - 800 14,400 ar - - 200 3,000 4,410 79,380
BRE - - - - - - ®& - - 100 1,500 2,550 45,900
EE - - - - - - iR - - 20 300 800 14,400
=] - - - - - - ES - - 5 90 10 180
{1} - - - - - - 11 - - 70 1,050 1,560 28,080
Il - - 40 600 3,000 54,000 13l - - 620 9,300 24,700 444,600
1E=y9 - - 60 900 2,895 52,110 1h-v4 - - 220 3,300 12,458 224,244
+ B - - - - - - + B - - 1,440 21,600 46,305 833,490
E - - 220 3,300 10,895 196,110 & 95 1,140 3,645 54,690 119,865 { 2,157,561




(1e2 hE)
IYELIDX TYE167
[RIR7E 120ke/10a J55& 150kg/10a 218 150kg/10a [RIR7E 120kg/10a J55& 150kg/10a 218 150kg/10a
RER | HHG) [ £ESke | i) [ EES(e) | HEHi() | EES (k) RER | HHiG) [ £ESke | i) [ EES(e) | HEHi() | EES (k)
Z5 - - - - - - Z5 - - - - - -
aR - - 20 300 130 1,950 aR - - - - - -
®& - - - - - - ®& - - 20 300 730 10,950
EE - - - - - - iR - - 20 300 150 2,250
LAl - - - - - - LAl - - - - - -
L - - - - - - i3]l - - - - - -
1h-v9 - - - - - - 1599 - - 60 900 525 7.875
+ B - - 280 4,200 5,230 78,450 + B - - 290 4,350 5,990 89,850
& - - 300 4,500 5,360 80,400 & - - 390 5,850 7,395 110,925
EDELED LpEY
[RIR7E 120kg/10a J55& 150kg/10a 218 150kg/10a [RIR7E 120kg/10a J55& 150kg/10a 218 150kg/10a
RER | EHG)  £ESke | @) (EES(e) | HEHi()  EES (k) RER | HHG)  £ESke | @) (EES(e) | HEH()  EES (k)
Z5 - - - - - - Z5 - - - - - -
a8 - - - - - - a8 - - - - - -
k& - - - - - - k& - - - - - -
EE - - 20 300 150 2,250 iR - - - - - -
LAl - - - - - - LAl - - - - - -
i3]l - - - - - - i3]l - - 80 1,200 350 5250
1k-v9 - - - - - - 1k-v9 - - - - - -
+ B - - 50 750 890 13,350 + B - - - - - -
& - - 70 1,050 1,040 15,600 & - - 80 1,200 350 5250
E2FA EWAIF
[RIR7E 120ke/10a J55& 150kg/10a 218 150kg/10a [RIR7E 120ke/10a J55& 150kg/10a 218 150kg/10a
RER | EHG)  £ESke | @) (EES(e) | HEH()  EES (k) RER | HHG)  £ESke | i) (EES(e) | HEHi()  EES (k)
25 40 480 - - - - 25 5 60 - - - -
a8 - - - - - - a8 - - - - - -
k& - - - - - - & - - - - - -
iR - - - - - - iR - - - - - -
LAl - - - - - - LAl - - - - - -
i3]l - - 80 1,200 240 3,600 13l - - - - - -
1h-v49 - - 40 600 440 6,600 1h-v49 - - 10 150 - -
+B 40 480 630 9,450 14,360 215,400 +i - - - - - -
B 80 960 750 11,250 15,040 225,600 & 5 60 10 150 - -
LIV =0FY
[R[R#E 120kg/10a 5% 150kg/10a $£4& 150kg/10a [R[R%E 120kg/10a 5% 150kg/10a $£4& 150kg/10a
RER | EHi(a) [ EEE e | e  FES(e) | @EHi) | EES (ke) | RER | EHi(a) [ EEEe | e  FER(e) | BEHiG) | EES (ke) |
25 - - - - - - 25 - - - - - -
a8 - - - - - - a8 - - - - - -
% - - - - - - % - - - - - -
Bk - - - - - - Btk - - 20 300 50 750
Ll - - - - - - Ll - - - - - -
i3]l - - 40 600 80 1,200 i3]l - - - - - -
1=y - - - - - - | Ahewy - - - - - -
B - - - - - - B - - - - - -
B - - 40 600 80 1,200 & - - 20 300 50 750




B2 EY) ThrEAFIY
[RR%E 120kg/10a [5#8 150ke/10a #27E 150kg/10a [RR%E 120kg/10a [57E 150kg/10a #%7E 150kg/10a
RER | HHG) [ £ESke | i) [ EES(e) | HEHi() | EES (k) RER | HHiG) [ £ESke | i) [ EES(e) | HEHi() | EES (k)
Z5 - - - - - - Z5 - - - - - -
a8 - - - - - - a8 - - - - - -
®E - - - - - - ®E - - - - - -
ABIR - - - - - - ABIR - - - - - -
A1l - - - - - - A1l - - - - - -
13l - - - - - - 13l - - - - - -
=y - - - - - - =y - - - - - -
TR - - 20 300 150 2,250 TR - - - - - -
i - - 20 300 150 2,250 & - - - - - -
LEHRME FENAKME
[RR1E 120kg/10a [R#8 150ke/10a #27E 150ke/10a [RR%E 120kg/10a [57E 150kg/10a #%7E 150kg/10a
RER | EHG)  £ESke | @) (EES(e) | HEHi()  EES (k) RER | HHG)  £ESke | @) (EES(e) | HEH()  EES (k)
Z5 - - - - - - Z5 - - - - - -
a8 - - 60 900 900 13,500 a8 - - - - - -
®E - - - - - - ®E - - - - - -
EE - - 50 750 305 4575 iR - - - - - -
A1l - - 10 150 350 5,250 LAl - - 10 150 180 2,700
i3]l - - 80 1,200 240 3,600 13l - - - - - -
=y - - - - - - =y - - - - - -
+B - - - - - - +B - - - - - -
i - - 200 3,000 1,795 26,925 & - - 10 150 180 2,700
N &Et
RIRE R ®ig
RER | EHiG)  LESke | @) (EES(e) | HEHi()  £ES (k)
ZH 45 540 - - - -
a8 - - 80 1,200 1,030 15,450
®i& - - 20 300 730 10,950
iz - - 110 1,650 655 9,825
11 - - 20 300 530 7,950
i3]l - - 280 4,200 910 13,650
1h-v - - 110 1,650 965 14,475
+ B 40 480 1,270 19,050 26,620 399,300
i 85 1,020 1,890 28,350 31,440 471,600




(feth%

AAES)

El:5 (3 X
[RIR7E 120ke/10a J55& 120kg/10a 218 150kg/10a [RIR7E 120kg/10a J55& 120kg/10a 218 150kg/10a
RER | EHG) [ £ESke | @) [ EES(e) | HEHi() | EES (k) RER | HHG) [ £ESke | i) [ EES(e) | HEHi() | EES (k)
Z5 5 60 - - - - Z5 - - - - - -
a8 - - - - - - a8 - - - - - -
k& - - - - - - k& - - - - - -
ABIR - - - - - - ABIR - - - - - -
LAl - - - - - - LAl - - - - - -
i3]l - - 30 360 480 7,200 13l - - 10 120 100 1,500
=y - - - - - - =y - - - - - -
+8 - - - - - - +8 - - - - - -
& 5 60 30 360 480 7,200 & - - 10 120 100 1,500
ZAES BEt
RIRE R R
RER | Eif) ( 4ESe) | BEH(a) (EESE(e) | BEHi() | £ES (ko)
Z5 5 60 - - - -
a8 - - - - - -
k& - - - - - -
BBiR - - - - - -
LAl - - - - - -
i3]l - - 40 480 580 8,700
1h-v - - - - - -
+8 - - - - - -
& 5 60 40 480 580 8,700
(e LAITA)
RESE tiEess
[RR18 100kg/10a 3% 120kg/10a %12 150kg/10a [RR18 100kg/10a R3% 120kg/10a %12 150kg/10a
RER | EHi(a) (EEE e | (e  FER(e) | @EHiG) | £ES (ke) | RER | Eii(a) (EEERe | @EHia)  FER(e) | @EHiG) | EES (ke) |
25 - - - - - - 25 - - - - - -
a8 - - - - - - a8 - - - - - -
% - - - - - - % - - - - - -
BB iR - - - - - - BB iR - - - - - -
Ll - - - - - - Ll - - - - - -
£l - - - - - - £l - - - - - -
1h-v9 40 400 50 600 420 6,300 1h-v9 - - - - - -
B 40 400 1,620 19,440 8,675 130,125 +i - - - - - -
B 80 800 1,670 20,040 9,095 136,425 H - - - - - -
itz [k
[RR18 100kg/10a R3% 120kg/10a %12 150kg/10a R R4 100kg/10a R3% 120kg/10a %12 150kg/10a
RER | Eiia) (EEER e | (e  FER(e) | @EHiG) | £ES (ke) | RER | Eii() (EEE e | e  FER(e) | @EHiG) | £ES (ke) |
=5 50 500 - - - - 5 - - - - - -
a8 - - - - - - a8 - - - - - -
% - - - - - - % - - - - - -
BB iR - - - - - - BB iR - - - - - -
Ll - - - - - - Ll - - - - - -
£l - - - - - - £l - - - - - -
1h-v9 220 2,200 - - - - 1h-9 - - - - 70 1,050
+i - - 1,000 12,000 3,091 46,365 +H# - - 150 1,800 530 7,950
B 270 2,700 1,000 12,000 3,001 46,365 & - - 150 1,800 600 9,000




EREH AbEE
[RIR7E 100kg/10a J55& 120kg/10a 218 150kg/10a [RIR7E 100ke/10a J55& 120kg/10a 218 150kg/10a
RER | EHG) [ £ESke | @) [ EES(e) | HEHi() | EES (k) RER | HHG) [ £ESke | i) [ EES(e) | HEHi() | EES (k)
Z5 - - - - - - 25 - - - - - -
aE - - - - - - a8 - - - - - -
k& - - - - - - k& - - - - - -
iR - - - - - - iR - - - - - -
LAl - - - - - - LAl - - - - - -
i3]l - - 150 1,800 1,100 16,500 13l - - - - - -
1h-v9 - - - - 200 3,000 1599 - - - - - -
+8 - - - - - - +8 - - - - - -
& - - 150 1,800 1,300 19,500 & - - - - - -
EFT B/TFES
[RIR7E 100kg/10a [51& 120kg/10a %18 150kg/10a [RIR7E 100ke/10a [51& 120kg/10a %18 150kg/10a
RER | EHiG)  LESke | @) (EES(e) | HEH()  EES (k) BER | HHG)  £ESke | @) (EES(e) | HEHi()  EES (k)
Z5 - - - - - - 25 - - - - - -
aE - - - - - - a8 - - - - - -
k& - - - - - - k& - - - - - -
ABIR - - - - - - ABIR - - - - - -
Ll - - - - - - L] - - - - - -
£l - - - - - - £l - - - - - -
=) - - - - - - =) - - - - - -
+5 15 150 250 3,000 2,991 44,865 +# - - - - - -
B 15 150 250 3,000 2,991 44,865 H - - - - - -
|TIES #3595
[R5 #E 100kg/10a 5% 120kg/10a $£4& 150kg/10a [RRFE 100kg/10a 5% 120kg/10a $£4& 150kg/10a
RED | i)  AEE(e) | HEE) (LEE(e) | B [ FEE(Ge) | |EEB| mHGe)  4EE(e | BEH()  LEE (e | BEHE() | LER (ke |
25 - - - - - - 25 - - - - - -
a% - - - - - - a% - - - - 120 1,800
% - - - - - - % - - - - - -
BB iR - - - - - - BB iR - - - - - -
Ll - - - - - - L] - - - - - -
L - - - - - - L - - - - - -
k-9 - - - - - - k-9 - - - - - -
+5 5 50 - - 200 3,000 +i - - 80 960 60 900
B 5 50 - - 200 3,000 & - - 80 960 180 2,700
Ef-avy N
[R[5%E 100kg/10a 5 #E 120kg/10a {242 150kg/10a [R[R#E 100kg/10a 5% 120kg/10a $£4& 150kg/10a
RED | i)  AER(e) | B [ FEE(e) | B [ HEEGe) | |EEB| mHGe  4EE(e | BEH() | LEE (e | BEHE() | LEE (ke |
=5 - - - - - - ZH 190 1,900 - - - -
arE - - - - - - a8 - - - - - -
% - - - - - - % - - - - - -
BB iR - - - - - - BB iR - - - - - -
Ll - - - - - - L] - - - - - -
£l - - - - - - £l - - - - - -
1h-v9 - - - - - - 1h-9 - - 60 720 950 14,250
+5 - - - - - - +5 - - 800 9,600 6,231 93,465
B - - - - - - & 190 1,900 860 10,320 7,181 107,715




FFRKIE BES
[RR%8 160kg/10a [R#8 180ke/10a #R7E 210kg/10a [RR%& 160kg/10a [F7E 180kg/10a #R7E 210kg/10a
RER | EHG) [ £ESke | @) [ EES(e) | HEHi() | EES (k) RER | HHG) [ £ESke | i) [ EES(e) | HEHi() | EES (k)
Z5 - - - - - - Z5 - - - - - -
a8 - - - - - - a8 - - - - - -
k& - - - - - - k& - - - - - -
B iR - - 20 360 100 2,100 BB iR - - 20 360 100 2,100
LAl - - - - - - LAl - - - - - -
13l - - - - - - 13l - - - - - -
1h-v - - - - 60 1,260 1h-v4 - - 10 180 60 1,260
+8 - - - - - - +8 - - - - - -
& - - 20 360 160 3,360 & - - 30 540 160 3,360
pN=E WAITA &Et
[RR%8 160kg/10a [5#8 180ke/10a #R7E 210kg/10a RIRiE RiE R1E

RER | EHG) [ £ESke | @) [ EES(e) | HEHi() | EES (k) RER | EHiG)  LEESke) | i) [ EES(e) | HEHi() | EES (k)
Z5 - - - - - - =5 240 2,400 - - - -
aR - - - - - - aR - - - - 120 1,800
k& - - - - - - k& - - - - - -
B iR - - - - 60 1,260 BB iR - - 40 720 260 5,460
LAl - - - - - - LAl - - - - - -
i3]l - - - - - - i3]l - - 150 1,800 1,100 16,500
1h-v9 - - 10 180 90 1,890 1599 260 2,600 130 1,680 1,850 29,010
+ B - - - - - - + B 60 600 3,900 46,800 21,778 326,670
& - - 10 180 150 3,150 E 560 5,600 4,220 51,000 25,108 379.440




(& 21
F427tVYN *8/3a7
[RIR7E 90ke/10a [R7E 90kg/10a %18 90kg/10a R R%8 90kg/10a [5#& 90kg/10a £2%8 90ke/10a
RER | Efi(a) (£ES e | BEHG) [ EES(e) | HEHi(a) | EER (ke) REB | Efi(a) (£ERke) | BEHG) [ EES(e) | HEHi(a) | EER (ke)
250 - - 500 4,500 599 5,391 250 - - - - - -
A - - - - - - A - - - - - -
#iE - - - - - - #iE - - - - - -
BBYR - - - - - - BBYR - - - - - -
Li{1) - - - - - - Li{1) - - - - - -
Il - - 20 180 300 2,700 il - - - - - -
+ 100 900 - - - - + - - - - - -
IER - - 200 1,800 1,069 9,621 HIER - - 20 180 92 828
& 100 900 720 6,480 1,968 17,712 b - - 20 180 92 828
L3/h%Y s
[RIR7E 90ke/10a [R7E 90kg/10a %18 90kg/10a R R%8 90kg/10a [5#& 90kg/10a £2%8 90ke/10a
RER | EHi(a) £ESke) | BEHG) (EES(e) | HEHi(a) | EER (ke) RER | Efi(a) £ESke) | BEHG) [ EES(e) | FEHi(a) | EER (ke)
250 - - 150 1,350 264 2,376 50 - - 500 4,500 2,194 19,746
A - - - - - - A - - - - - -
#iE - - - - - - #iE - - - - - -
BBYR - - - - - - BBYR - - - - - -
Li{1) - - - - - - Li{1) - - - - - -
il - - - - - - il - - - - - -
+ - - 100 900 - - + - - - - - -
HIER - - - - - - HIER - - 20 180 92 828
& - - 250 2,250 264 2,376 b - - 520 4,680 2,286 20574
ZlE &5t
RRE RiE HRiE
RER | Efi()  EEE(e) | EHGa) EEE(ke) | EHi(a) | EES (ke |

50 - - 1,150 10,350 3,057 27513
AR - - - - - -
#iE - - - - - -
ER - - - - - -
LiA1l] - - - - - -
I - - 20 180 300 2,700
+i% 100 900 100 900 - -
Fillle:d - - 240 2,160 1,253 11,277
E 100 900 1,510 13,590 4,610 41,490




